Practice
Factoring ~ Trinomials w/Non-1 Leading Coefficient

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review
video again,

#1) Factor this expression completely: 6x* —24x + 24

#2) Factor this expression completely: 2542 + 204 + 4

#3) Factor this expression completely: 6k —%—1

#4) Factor this expression completely: 2x* —13x+15

#5) Factor this expression completely: 2x* +13x+15



#6) Factor this expression completely: 2x* —17x+15

#7) Factor this expression completely: 10x* —13x-3

#8) Factor this expression completely: 2x° +13xy +15y°

#9) Factor this expression completely: 23> —xy—15y°

#10) Factor this expression completely: 36r” ~30r+25



Answers:

#) 6(x~2)(x-2) or 6(x-2)°
#2) (5h+2)(5h+2) or (5h+2)
#3) (3k +1)(2k 1)

#4) (2x-3)(x~5)

#5) (2x+3)(x+5)

#6) (x~1)(2x-15)

#) (5.\'+i).(2x-—3)

#8) (2x+3y)(x+5y)

#9) (2x+5y)(x-3y)

#10) No Solution
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